Problems/Tvinhpukip

Uunpl tbpjujugynid kb jpunhpubph wwhwbetbpp huybkpkt b wuqgkpku
1Eqniubpny:

Problem 1/ Tuinhp 1
Completed Problem link version 1 - https://cutt.ly/SiXdXEe
Completed Problem link version 2 - https://cutt.ly/JiXd1dv

English
Suppose we have a 10X16 x + y axis. Please write a logic so that when inputing a

value, we will get a visual representation of that value inside the axis. Example: The

inputed value is 1.
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Zujkinku

Mubkup 10X16-h Ypw x+y wnwbgp: Uuhpwdbon E qpbk] (nghw, nph dbe
Uhpunistyny hls-np wpdbp, Yunwbwbp bodws wpdtph Jhqniwy wnbkupp
wnwugph ubpunud:
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Problem 2 / unhp 2
Completed Problem link - https://cutt.ly/pjiXd4hy

English
Your Problem is to determine whether the input string is valid, having the string
containing only the characters '(', '), '{', '}, '[' and ']'. Please note that input string is
valid if:

1. Open brackets must be closed by the same type of brackets.

2. Open brackets must be closed in the correct order.

Note that an empty string is also considered valid.

Example 1:
Input: "()"
Output: true

Example 2:

Input: “()[1{}"
Output: true

Example 3:
Input: "(]"
Output: false

Example 4:

Input: "([)]"
Output: false

Example 5:

Input: "{[I}"
Output: true

Zujtink
Qtp wpwewnpuipt t npnokp’ wpynp dnunpughtt wdjuyibpp Jugbp B
niubktwny vhwyt hEnlyuy thotpp 'L )5 'L 3, T ']

Unitnpuwyhtt ndjujubpp hwdwpymd &b Juytp, bpt:
1.  Pwugthulugstpp hulynud Eu unyt nkuwlh thwuljugstpny:
2. Pwugthwlwugstpp thuljynid i £hon hEppwljutnipjudp:

‘Lonid. nuunwpl] Untinpughtt mdyujukpp tnybybu hwdwpynmud b poyjunpbh:

Onhtwlubkpp thphuyugdws Gu yeplinud:


https://cutt.ly/pjXd4hy
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Problem cash / uunhp cash
Completed Problem link https://cutt.ly/ciXd6G7

English
Let's imagine that the cashier owes the customer 41 cents change, and he has 25, 10,

5, and 1 cents for change. Guided by the "greedy" algorithm, the cashier will
immediately want to give the maximum, in the first step. At this step, the optimal or
best solution is to give out 25 pence. 41-25 = 16. That leaves 16 pence to be dispensed.
Obviously, 25 pence is too

much, so that leaves 10. 16-10 = 6. Now we give out 5 pence according to the same
principle, and then 1. Thus, the buyer will receive only four coins of 25, 10, 5 and 1
pence.

So, what is the minimum number of coins we need to give change?

e Given: 25, 10, 5, 1 cent coins.
e Ask the user how much change to give out.

e (Calculate the minimum number of coins with which to do this.

Example 1:

O hi! How much change is owed?
Input: Change owed: 0.41
Output: 4

Example 2:

O hi! How much change is owed?
Input: Change owed: -0.41

How much change is owed?
Input: Change owed: -0.7

How much change is owed?
Input: Change owed: 0.55
Output: 3

Zuykpkl

Bltp wwwnlkpwgukup, np quudwwywhp whwnp L hwdwpnpnht 41 ghtin dwip
hwtduh, b tw muh 25, 10, 5 & 1 ghttnn hwbdubnt hwdwp: Unwetunpntinyg
«uquh» wignphpun] = quidwwuwhp wpwehtt hul puymd  Ygwljwiw
widhpwybu nw] wnwybjugnyup: Uju puynid owywnhdw) jud jujugnyy


https://cutt.ly/cjXd6G7
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nuénudp 25 whtu wnwyb £, 45-25=16: Ujuhuywn E, np 25 thkhup pwn E, niunp
pnnunud £ 10. 16-10 = 6. Uydd dkup wwhu Lup 5 thkuuh tnyb ulqpnitiph
hwdwduyl, huly htwnn * 1: @unpyp junwbw piyudbip snpu dknununpud 25,
10,5 b 1 wku.

Ujuughuny, n'phb b dbnununpudibph iuqugniyi pubwlyp, npp dbup ubnp k
thnthnjunipjnit juwnwpbup:
+ Zwpyh wnukiny, np niukp 25, 10, 5, 1 ghin dbknwnunpudubp:

« Zwupgpbkp oquuynnht, pt npput gnidwp whwp L mw thnthnjunipju
hwdwp:

+  Zuwpybp dbnnwnuppudutph tququqgniyi pwbwlp, npny jupkih £ qu
wlky:

Onhtwlubkpp thphuyugdws tu yeplnud:

Problem credit / vunhp credit
Completed Problem link - https://cutt.ly/iiXfyDg

English
There are a lot of people with credit cards in this world, so those numbers are pretty

long: American Express uses 15-digit numbers, MasterCard uses 16-digit numbers,
and Visa uses 13- and 16-digit numbers.

All American Express numbers start with 34 or 37, most MasterCard numbers start
with 51, 52, 53, 54, or 55 and all Visa numbers start with 4. But credit card numbers
also have a “checksum” built into them, a mathematical relationship between at least
one number and others.

Well, most cards use an algorithm invented by Hans Peter Luhn of IBM. According
to Luhn’s algorithm, you can tell if the number is a credit card or not

Check this number, if it belongs to a credit card, print the name of that card, otherwise
it is INVALID.

Example 1:
Input: Number: 4003600000000014
Output: VISA

Example 2:
Input: Number: 4003-6000-0000-0014


https://cutt.ly/ijXfyDg
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Input: Number: foo
Input: Number: 4003600000000014
Output: VISA

Example 3:
Input: Number: 6176292929
Output: INVALID

Zugtinkt

Uju wohiuphnud Juipujhtt pupwnkp niubgnn owwn dwpnhly jub, ntunh wyy
pyYtpp pajuljutht Epup Lu: American Express-p oqunugnpénid L 15-uhpwiting
hwdwpubp, MasterCard-u1 ogqirnmignpédnid £ 16-hpwting hwdwptbp, hulj Visa -
ogquuuugnpénid k13 b 16-uhpwing hmdwiputip:

American Express-h pninp hwdwptubtpp uljuynid tu 34 Jud 37-ny, MasterCard-h
hwdwpubph dks dwup ujuymud k 51, 52, 53, 54 Jud 55-hg, hulj Visa-h pninp
hwdwpubpp ujuynd &t 4-hg: Puyg qupluyhtt pupnbph hwdwpubpp niukh
twl ukpnpqusd "huljhy gnidwp”, npp Juenigyk) k bpwbg, dupbdwunhljuljut
Juyp wuwhk), gnut Uk hwdwph b djnrutibph dheli:

Lwpuntph Ukd dwunid oqunnugnpéynid £ wgqnphped, npp hnphub) L 2Zwtu ©hpbp
Lnit IBM- hg: Cunn Lntb - h wignphpuh, gnip Jupnn Ep hdwbw) “hwdwpp
Jupyuyht pwpin £, ph ny

Uwnigh] mpywé hwdwpp , Epk quunjuwiunid £ Jupluihtt pupnht iy g
puwpunh wbtjwunidp, hwjunwl nwypnid INVALID:

Onhtwlubkpp thphuyugdws tu yeplinud:

Problem readability / vunhp readability
Completed Problem link - https://cutt.ly/TiXfcwd

English
Implement a program that computes the approximate grade level needed to

comprehend some text.

Reading Levels

b «

E.B. White’s “Charlotte’s Web” book is between a second and fourth grade reading
level, and Lois Lowry’s “The Giver” is between an eighth grade reading level and a
twelfth grade reading level. What does it mean, though, for a book to be at a “fourth
grade reading level?

Well, in many cases, a human expert might read a book and make a decision on the
grade for which they think the book is most appropriate. But you could also imagine

an algorithm attempting to figure out what the reading level of a text is.


https://cutt.ly/TjXfcwd
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One such readability test is the Coleman-Liau index. The Coleman-Liau index of a
text is designed to output what (U.S.) grade level is needed to understand the text. The
formula is:

index = 0.0588 * L - 0.296 * S - 15.8

Here, L is the average number of letters per 100 words in the text, and S is the average
number of sentences per 100 words in the text.

Let’s write a program called readability that takes a text and determines its reading
level.

Example 1:

Input: Text: Congratulations! Today is your day. You're off to Great Places! You're off
and away!

Output: Grade 3

The text the user inputted has 65 letters, 4 sentences, and 14 words. 65 letters per 14
words is an average of about 464.29 letters per 100 words. And 4 sentences per 14
words is an average of about 28.57 sentences per 100 words. Plugged into the
Coleman-Liau formula, and rounded to the nearest whole number, we get an answer
of 3: so this passage is at a third grade reading level.

Let’s try another one:

Example 2:

Input: Text: Harry Potter was a highly unusual boy in many ways. For one thing, he
hated the summer holidays more than any other time of year. For another, he
really wanted to do his homework, but was forced to do it in secret, in the dead
of the night. And he also happened to be a wizard.

Output: Grade 5

This text has 214 letters, 4 sentences, and 56 words. That comes out to about 382.14
letters per 100 words, and 7.14 sentences per 100 words. Plugged into the Coleman-
Liau formula, we get a fifth grade reading level.

As the average number of letters and words per sentence increases, the Coleman-
Liau index gives the text a higher reading level. If you were to take this paragraph,
for instance, which has longer words and sentences than either of the prior two
examples, the formula would give the text an eleventh grade reading level.

Example 3:

Input: Text: As the average number of letters and words per sentence increases, the
Coleman-Liau index gives the text a higher reading level. If you were to take this
paragraph, for instance, which has longer words and sentences than either of
the prior two examples, the formula would give the text an eleventh grade
reading level.

Output: Grade 11

As the average number of letters and words per sentence increases, the Coleman-
Liau index gives the text a higher reading level. If you were to take this paragraph,
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for instance, which has longer words and sentences than either of the prior two

examples, the formula would give the text an eleventh grade reading level.

Zujkinkb
Ppulwtwgut] 6pwghp, npp  hwydupynud £ qhwhwwndwt  dnwnwynp
dwljupnulp, npt wmthpwdbtown k npnp inkpun hwuljwbwnt hwdwnp:

E.£. Muyph «Charlotte’s Web» ghppp quuynmud E bplpnpny b snppnpy
nuuwpwbubph piptpgutnipyut dwjuppulh dhol, hull Lnhu Loniph- h «The
Giver» ghppp' niphpnpy nuwuwpwih pbpbpguimput dwjuppuyjh b
nwubbpynitpnpn puuwupwh pupbpgutnipjut dwujupguyh dheli:

by Euw hywbhwljnud "puptpguinipjut snppnpn dwjupguljnud” gunnidnn qpph
hwdwp:

Zwlwpuh dwutwgbn dwupnp Jupnn b ghpp Jupnpuy) G npnonid jujuguby
nuuh dwuht,nph hudwp, hp jupshpny, ghppp wpwn]b hwpdwp E: fuyg jupnng
tp wwwnlkpwgut twl, np wgnphpup thopdnid Ehwuljubwyg, plnpt Entpunh
puptpgdut dwjupnulp:

Cwwn phwypbpnud, dwpnjuyhtt thonpdwgbnp Jupnn E ghpp jupnuwy b npnonid
Yujugub]  wjt guuwpwh  dEpwpbpjug,  nph o upshpny,  wyn - ghppl
wdkutwhwpdwpt k' Puyg Jupnn Gp wuwnlbpugub] twlb, np wignphpdp
thnpdnid £ hwuljwbwy, pk npb £ inbpunh puptpgdwut dwuljupnuln:
Cuptpguinipyutt hwdwp twdwb thnpdtphg dbyp Lnjdwbt-Lhwnt hugkput k
(index): £njdwu-Lhwnt huntpup twpwwnbugwé E wbpunp hwuljuwbwnt
hwdwp wiuhpwdbon (wdkphljjut) guwhwwnwljwiuh dwujupnpulp gnigunpbint
hwdwp: Futwdl -

huntpu(index) = 0,0588 * L - 0,296 * S - 15,8

Ujunntn L- p wmbpunnh 100 punh hwdwp wnwuntph dhohtt pwbwlu E, hull S- p
“twiunwunipjut Uhohtt pwtwjp mmtipunh 100 punh hwdwp:

Bltp qpkup dpwghp, npp Ynsynud | pupbntbjhnipnit, npp Jipgunud £ wkpuwn
b npnonid npw puptkpgdut dwljupgulp:

Example 1:
Ophuwyp LEpYwywgywd E Ybiplned:

Stpuwnp, npp Untnpugplg ogunynnp, nith 65 mwn, 4 twpunwunipnit b 14
pun: 14 punh hwdwp 65 mmwun dhohtt hwsyny Unwn 464,29 mmwun E 100 punh
hwdwpn: bulj 4 twpunuwunmpniup 14 punh hwdwp dhohtinid juqunid E dnwn
28,57 twjuwunuwunipjnit 100 punh hwdwp: Unuknyg njdwb-Ljunt pwtwdlih
Ubo U Ynpugus dhsh dninnwlu wdpnne phyp, dkup vnwinmd tup 3-h
yuwnwupwi. Uju hmnjwsép qnudmd E Eppnpn nuuwpwih pipkpgutnipyut
dwljupnuynid:

®npdkup bu dkYp.
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Example 2:
Ophuwyp LUEpYwywgywd E ybplned:

Uju mnkpuwnnp punlugwsé k 214 tnunhg, 4 twjpwnguunipjniihg bk 56 punhg: Fw
Juqunid E dnwn 382,14 tnwun " 100 punh hwdwnp, b 7,14 twpwnguunipini™ 100
pwnh hwdwp: Uhwbwiny €njdwb-Lhunt pwuwdbiht ° dktip unnwunid kup
hhugbkpnpy puuwpwh puptpgutnipyut dwjuppul:

Example 3:
Onphuwyp UtpYwjwgywd E Jbplened:

Lwjuwnuunipjubl munbkph b puntph dhoht pubwlh wbjugdw hkn dkljnbn
£njdwb-Lhwnt hugkpup wnbkpunh puptpgdwt wdbih pupdp dwwupnul k
wnwihu: Gpk Jtpgubup, ophtiwl, wju wwppkpnipniup, npnud puntpp b
twhpwnuunipniutbp wybih Epup tu, pwt Epyne bwjunpn ophtwlutphg
Ubnud, myw pwtwdbp muwutbpynikipnpn nwuwpwiunid nkpunht jrnu wydtih
pwpdp pupkpgutnipyut dwjuppuly:

Problem caesar / Juunhp caesar
Completed Problem link - https://cutt.ly/JiXf1lh

plaintext Hi| E | L L 0

+ key 1 2| (R | 1 1

= ciphertext | F I M| M| P
English

Implement a program that encrypts messages using Caesar’s cipher.

Unencrypted text is generally called plaintext. Encrypted text is generally called
ciphertext. And the secret used is called a key.

To be clear, then, here’s how encrypting HELLO with a key of 1 yields IF'MMP:
More formally, Caesar’s algorithm (i.e., cipher) encrypts messages by “rotating” each
letter by k positions. Denote the unencrypted text by the letter p, and pi - the letter
in the text p, which is at position number i. Let's call the secret key the letter k, c is
the ciphertext, and ci is the letter in the ciphertext that is at position i. Then we can
calculate each letter of the cipher using the formula:

ci = (pi+k)% 26


https://cutt.ly/JjXf1lh
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Example 1:

Input: SimpleNumberKey: 1
Input: PlainText: HELLO
Output: CipherText: IFMMP

Here’s how the program might work if the user provides a key of 13 and a plaintext
of hello, world:

Example 2:

Input: SimpleNumberKey: 13
Input: PlainText: hello, world
Output: CipherText: uryyb, jbeyq

Notice that neither the comma nor the space were “shifted” by the cipher. Only rotate
alphabetical characters!

Example 3:

Input: SimpleNumberKey: 13

Input: PlainText: be sure to drink your Ovaltine
Output: CipherText: or fher gb gevax Ibhe Binygvar

Zujkinku

Ppulwbmgik] spughp, npp  qunquugpnid t - hungnpugpmipniibbpp
oqunuuugnpstiny Ykuwph swéslwghpp: 2dwslugpyus nkpuwnp hhdtwjuunid
nsynd £ wqqupq wnbpunn: Fununtwgpjus mnkpunp hhdtwlwuwind Ynsynid k
dwsljugpuyht mbpuwn: bulj ogqurnuugnpdyws qununthpp Ynsynid k putiwhkey):
Nputugh wwupq (hth, whw, pk hisytu E HELLO- h qupunuwgpnidp 1 pmbtwnyg
wnwhu IFMMP:

Ugkih  wwounbwluwl, Ykuwph wignphpdp  (wjuhipt  — Swslwughpp)
qununbugpnid E hwnnppugpmpnibbiipp’ nipupwisnip nunp «aqunbyng»
nun k nhpph: ‘Lokp séwsljugqpyué wnbpunp p mwnny, hull pi - mbpunnid
gquuynn p mwnp, npp gnuynmid £ i gphppnud: Btp qununuh pwbwhtt mtukup
k wnwnp, c- p dwbsljugph wmbpunt k, hulj ci- u dwdlwugph nbpunnnid qunynn
twdwlju E, npp qnudnud ki ghppnud: dpwithg htwnn, oginugnpstinyg pwuwdlp,
Jupnn tp hwodunplt] swsjugpuwil jpipupwiisnip twn:

ci=(pi+k)% 26
Ljwwnbp, np ny unnpuljinp, ny k| mwpwénipniup «kt mbnuthnpuyby)»

dwdlugnny: Munkp vhuytt wyppbiwljut thotpp:
Onhtwlubkpp tkpjuyugdws Lu yeplinud:
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Problem vigenere / vunhp vigenere
Completed Problem link - https://cutt.ly/XjXq3cd

English
The Vigenere cipher is somewhat safer than the Caesar cipher: it uses a word as the

key and is difficult to break by hand. Each letter of the key generates a number, and
as a result we get several keys to shift the letters.

If the number of letters in the message is not divisible by the key, we use only a part
of the key in the last application of the key:

To find the value for the shift, we use the positions of each letter of our key bacon in
the alphabet (a to z). We count from zero, like true programmers. And we shift each
letter in the original text by a given number, as in Caesar's cipher, returning if
necessary after z to the beginning of the alphabet. Thus, M will be shifted by 1, the
first e will not be shifted at all, and the second e will be shifted by 2 positions. Below

you see the original message, the painted key, and the result of its application.

Meet me at the park at eleven am
baco nb ac onb acon ba conbac on
Negh zf av huf pcfx bt gzrwep oz

Mathematics of the cipher:
ci = (pi + kj) % 26

Let p be some text, k be the keyword, kj be the jth letter of the key, pi be the letter
number i in the original text, ci be the letter number i in the cipher. Then:

Example 1:

Input: SimpleTextKey: bacon
Input: PlainText: Hello
Output: CipherText: lenzb

Example 2:

Input: SimpleTextKey: bacon

Input: PlainText: Meet me in the park at eleven am
Output: CipherText: Negh zf ip huf pcfx bt gzrwep oz

Example 3:
Input: SimpleTextKey: 25
Output: Keyword should be alphabetic keyword only.

Zuybpku

dhdhukp Swdlhwghpp npny swihny wykh widuubg E pwt Ykuwph
dwslughpp. Ujit ognuugnpénid £ punp npybu pwtiwh b nddup b dknpny
Ynupk: Fubwnt nipupwtynip nun wnwewgunid £ uh phy, b wpyniupnid
dkltp uvnwtnud Eup vh pwtith puwtiwgh, mwunkpp mbnuthnputint hwdwp:


https://cutt.ly/XjXg3cd

(.
O
D
(
)
D
D
)
-
O
1

Bpt hunnppugpnipjut Uk tnuntph pwbwlp hwjuuwpuybu sh pudwiynid
puwbwnt Ypw, www pwbwnt yYkpohtt oguugnpdudwtt dwdwbwl dkup
oqunuuugnpénid kup npu dhuyt vh dwup.

Nputugh qunubp nmknuthnpdwt wpdtpp dktp oquuuugnpémid Eup bkp becon
pwbwhh pipupwtgnip tnwunh wypphtwljut nhpptpp (a- hg z): Ukup hwoynid
tup qpnjhg, hswytu hujulwb Spugpuynpnnutpp: 6y mipwpwbsnip wnwnp
pnit nbkpunnh dbky wnbnuithnjumd Eup wpdws hwdwpny, htisybu Ykuwph
dwéljwgpnid, z- hg htwnn wuhpwdbonnipyut nhypnid JEpunwntnd Gup
wjpnipkuth uljqpht: Ujuyhuny, M- b Jubknuihnpjudh 1-nd, wnwohtt e- &
punhwipuytu sh wknuinpadh, huly Eplpnpy e- o Yubnuihnpugh 2 nhppnd:
Uwnpl nbutinud bp puophtiml] hwinnpnugpnipiniup, ubpldws putiwhe b npu

Jhpundwt wipnniupp:

Meet me at the park at eleven am
baco nb ac onb acon ba conbac on
Negh zf av huf pcfx bt gzrwep oz

Owslugpuut dwphdwnhljut.
i = (pi + kj) % 26

©nn p- p huh htg-np mbpuw, k - putiwh pun, kj - putiwyne j- p wwnp, pi -
puophtiml] nbkpuwnnh i nunh hwdwpp, ci - nuep §nquynpdwt dke i hwdwph
wnwl] gunnuynn dwslwughpp:

Onhtwlyp ukpjuyugdws E JEplnid:

Problem substitution / vinhp substitution
Completed Problem link - https://cutt.ly/1jXhiFL

English
In a substitution cipher, we “encrypt” a message by replacing every letter with another

letter. To do so, we use a key: in this case, a mapping of each of the letters of the
alphabet to the letter it should correspond to when we encrypt it. To “decrypt” the
message, the receiver of the message would need to know the key, so that they can
reverse the process: translating the encrypt text back into the original message .

A key, for example, might be the string NQXPOMAFTRHLZGECYJIUWSKDVB. This
26-character key means that A (the first letter of the alphabet) should be converted
into N (the first character of the key), B (the second letter of the alphabet) should be
converted into Q (the second character of the key), and so forth.

A message like HELLO, then, would be encrypted as FOLLE, replacing each of the
letters according to the mapping determined by the key.

Here are a few examples of how the program might work. For example, if the user
inputs a key of YTNSHKVEFXRBAUQZCLWDMIPG]JO and a plaintext of HELLO.


https://cutt.ly/1jXhiFL
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Example 1:

Input: SimpleTextKey: YTNSHKVEFXRBAUQZCLWDMIPGJO
Input: PlainText: HELLO

Output: CipherText: EHBBQ

Example 2:

Input: SimpleTextKey: VCHPRZGJNTLSKFBDQWAXEUYMOI
Input: PlainText: hello, world

Output: CipherText: jrssb, ybwsp

Notice that neither the comma nor the space were substituted by the cipher. Only
substitute alphabetical characters! Lowercase letters remain lowercase, and uppercase
letters remain uppercase.

Whether the characters in the key itself are uppercase or lowercase doesn’t matter. A
key of VCHPRZGJNTLSKFBDQWAXEUYMOI is functionally identical to a key of
vchprzgjntlskfbdqwaxeuymoi (as is, for that matter,
VcHpRzGjNtLsKfBAQwAxEuYmOi).

And what if a user doesn’t provide a valid key?

Example 3:
Input: SimpleTextKey: ABC
Output: Key must contain 26 characters.

Example 4:
Input: SimpleTextKey: 12 3
Output: Key must contain 26 characters.

Zujkinku
Onfuwphidwlb swsjugpmid Uklp «qunnugpnid> kup hwnnpugpnipni |

mipuwpwbgnip mwun thnpowphubny dkl wy) nueny: ta wiknt hwdwp dkup
oquuuugnpémid Gup vh pwtiwih. wyu nhypnid wypnipkuh jnipupwtynip tmwnp
hudwywwnwupmttgutiny wjt mwunh, npp whwnp Ehuwdwyuwnwupwih wyb
ynnwynpbjhu: Zunnppugpnipniup «JEpswtine hwdwp wvinugnnp whwnp k
hdwbw pwbwht, npwhuqh upwbp Jwpnqubwb opoky gnpépupwgp.
Owsljugpdut nkpuwnp Yphhtt pupguubiny ptophttwl] hwnnpyugpnipjui:

Pwtiwhly, ophtiwaly, upnn kE thui) NQXPOMAFTRHLZGECYJIUWSKDVB wnnp:
Uju 26 uhpwtng pwbwht tpwbwlnud E, np A- & (wypnipkith wnwghtt tnwnp)
wtwnp b qEpwdyh N- b (pubunt wnwght thop), B- p (wypnipkuh Gpipnpn
wnwnp) whwnp Ebpusih Q- b (kphpnpny thy) buyb:

Niunh HELLO- h twdwb hwnnppugpnipniip Ynpuynpws Yjhuth npuybtu
FOLLE, jnipwpwbgnip wmwnbkpp thnpjuwphubing pun unbnung npnpdwd
pupunbkqugpdu:

Uhw Uh pwtith ophtiwl, pk hsybu Jupnn E wppawint) dpughpp: Ophtiwly, bpk
oqunugnpénnp  Untnpugpmd £ YTNSHKVEFXRBAUQZCLWDMIPGJO- h
pwtwhtt b HELLO- h wwpq wnkpuwn:
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Example 1:
Onhtwlyp ukpjuyugdws E JEplinid:

Example 2:
Onhtwlyp ukpjuyugdws E JEplnid:

Ljuwwnh nitikglp, np ny unnpuljtunp, ny £ mupwdnipniup skt thnpuwphtgty
dwslugnny: @nhuwphutp dhwyt wyppkuwjut thotpp: @npp mwuntpp dunud Eu
thnpp, hul dbkskpp Ubks: Lowbwlnipnil snilth pubaghnud thokpp ks ku ph
thnpp:  VCHPRZGJNTLSKFBDQWAXEUYMOI  uwnmbnup  $niuljghntwnpku
unyuwlwt Lt vchprzgjntlskfbdgwaxeuymoi  uwnbnuhtt  (htyybu twl
VcHpRzGjNtLsKfBAQwAxEuYmOi):

61 s jhlih, pk oqunugnpsnnp sh nwhu Jubp purbugh:
Example 3:

Onhtwlyp ukpjuyugdws E JEplnid:

Example 4:

Onhtwlyp ukpjuyugdws E yEplnid:

Problem fifteen / Wunhn fifteen
Completed Problem link - https://cutt.ly/ljXhl7P

10| 11|12

1314 |15

English
Write the game "fifteen"

Example 1:
Give the size game board fifteen, minimum size 3 and maximum size 9
Input: Size: 3

Output: 8|76
5|43
2|1]_

Input: Tile to move:

Example 2

Give the size game board fifteen, minimum size 3 and maximum size 9
Input: Size: 9


https://cutt.ly/ljXhl7P

Output: 80|79|78|77|76|75|74173|72
71]70|69|68|67|66|65|64|63
62|61]|60|59|58|57|56|55|54
53|52|51|50|49|48|47|46|45
44143|42|41140|39|38|37|36
35(34|33|32(31|30|29|28|27
26(25|24123(22]21]20|19|18
17|16|15|14|13|12]11|10] 9

871 6] 5| 4] 3[2] 1]_

Input: Tile to move:

Zugtinkt
Qnphp «lnuutthhig» jpwnp

Onhuwlutpp tkpuyugdus tu Jeplinud:

C
O
P
C
_)
.
1)
D
-
O
T




